Solution: Assignment # 4

· This is the reference solution

· There can be many ways to implement Primary/Foreign key relation ship
· CREATE TABLE Customer(

[CID] [int] CONSTRAINT [PK_Customer] PRIMARY KEY NOT NULL,

[CName] [nvarchar](50) NOT NULL,

[Address] [nvarchar](50) NOT NULL,

[Phone] [nvarchar](50) NOT NULL,

) 
· CREATE TABLE [dbo].[Category](

[CAT_ID] [int] CONSTRAINT [PK_Category] PRIMARY KEY ,

[CATName] [varchar](50) NOT NULL,

)
· CREATE TABLE [dbo].[Vendor](

[VID] [int] CONSTRAINT [PK_Vendor] PRIMARY KEY NOT NULL,

[Name] [varchar](50) NOT NULL,

[Address] [varchar](50) NOT NULL,

)

· CREATE TABLE [dbo].[Order](

[Order_ID] [int] CONSTRAINT [PK_Order] PRIMARY KEY NOT NULL,

[Description] [varchar](50) NOT NULL,

[CID] [int] NOT NULL,

CONSTRAINT  [FK_Order_Customer] FOREIGN KEY([CID]) REFERENCES [dbo].[Customer] ([CID])

) 

· CREATE TABLE [dbo].[Product-Order](

[Order_ID] [int] 

[PID] [int] NOT NULL,

CONSTRAINT [FK_Product-Order_Order] FOREIGN KEY([Order_ID])

REFERENCES [dbo].[Order] ([Order_ID])

CONSTRAINT [FK_Product-Order_Product] FOREIGN KEY([PID])

REFERENCES [dbo].[Product] ([PID])

Primary key (Order_ID, PID)
)

· CREATE TABLE [dbo].[Invoice](

[Inv_ID] [int] NOT NULL CONSTRAINT [PK_Invoice] PRIMARY KEY,

[Description] [varchar](50) NOT NULL,

[Total_Amount] [float] NOT NULL,

[Order_ID] [int] NOT NULL,

CONSTRAINT [FK_Invoice_Order] FOREIGN KEY([Order_ID])

REFERENCES [dbo].[Order] ([Order_ID])

)

· CREATE TABLE [dbo].[Product-Vendor](

[PID] [int] CONSTRAINT,

[VID] [int] NOT NULL,

CONSTRAINT [FK_Product-Vendor_Product] FOREIGN KEY([PID])

REFERENCES [dbo].[Product] ([PID]),

CONSTRAINT [FK_Product-Vendor_Vendor] FOREIGN KEY([VID])

REFERENCES [dbo].[Vendor] ([VID])

Primary key (PID, VID)
)

· CREATE TABLE [dbo].[Product](

[PID] [int] CONSTRAINT [PK_Product] PRIMARY KEY NOT NULL,

[PName] [varchar](50) NOT NULL,

[Price] [float] NOT NULL,

[CAT_ID] [int] NOT NULL,

CONSTRAINT [FK_Product_Category] FOREIGN KEY([CAT_ID])

REFERENCES [dbo].[Category] ([CAT_ID])

)
